A AL & 7 =

=3 ES i = =3
% B4ZEEHEIS B Y I BERMNKENEBANEHRR
% 7| AR TRt B L S T
% | EAUT R S LU BT AR | P B 17 ¥ |80 B
¥ ¥ X HR¥TE AR XR D memean
M4 B E|ST4E10A27H 118209 15 | [BA] SAUTEAT MHH ZNRER
BT ® EMBENENRER hva & AN BHRERE
yoEmo® ¥2,249,000|5 > 4 £tk (a) 0.99917494
RS ¥2,027,000|5 » & Lf5% (b) 1.00027136

A A " 2

No. (EER RSN = 1[m 22 £ 3Mm & g
1| (B) BXxER ¥2,248,000
2| /) wops FHm
3| (%) RELE ¥2,480,000
4| (B BRRR 38
5 |[ABEEHZ (B) ¥2,040,000
6 [HINTHIE ¥2,041,000
7 |mmesn 38
8| () mmEmE 38
9 [kt ¥2,033,000 %A
10| ) BHER B
1| Enrs FHm
12| (B) YvtEvbhTaTyy BIR
13
14
15
16
17
18
19




